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2-9: Rearranging Formulas

Example 1: Work with your partner to solve each equation for x. For part (c), remember a variable symbol,
like a, b, and ¢, represents a number. SOQVQ "pO\" %

ikide M okl
= =32 Q¥ = e
z -3 o
10+l -1243
&% | -
ifferently to so Ve for x in

Compare your work in parts (a) through (c) above. Did you have to do anything d

part (c)? NO .

Example 2:

Solve the equation ax — b = ¢ for a. The variable symbols x, b, and ¢ represent numbers. Justify your steps
using properties.

aN =C oriqinaf equatyon
n :ﬁ\ M ﬂdg\"\u'on P;%OPQV‘\'%’
L Tab  Simplify
LS Diviston Properiy
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Example 3:
Area. = Longth +imes width
The area Aof of a rectangle is 25 in®>. The formula for area -@
(Q) If the width w is 10 inches, what is the length [? PMS‘H\Q_ A = 25 in2 !
A- Qo 255210 5= D UpRiiad |
+O .
(b) = If.tieswldth w is 15 |m:hes, wha:it e length I? %‘- mu RQ w \
T RNV5 _L(1oin=2
<C ) = Rearrange the a'r’(;?formula to solve for L. A=lw "\(Q& 'S
MeRasured. in
A lw X .
s S%UO- Q uns.

w
A
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w

(d\ = Verify that the area formula, solved for [ will give the same results for [ as having solved for [ in the
original area formula.

(@) A=25,w= 1D (o) A:25 W= 15

= | 18-

Voverified W
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Solve each problem two ways. First, substitute the given values and solve for the given variable. Then, solve
for the given variable and substitute the given values.

a. The perimeter formula for a rectangle is p = 2(I + w) where p represents the perimeter, [ represents the
length, and w represents the width. Calculate Il when p = 70 andw = 15.

(Substitute in values for p and w)

(Pgin)
= ZCQ-\ru)
'70='£E,?,+(5)

10=20 +
-30\ v -

L@

(Solve the formula for |, then substitute values)

p: 2(2%—\»3
22
AR o

b. The areaformula for a triangle is 4

1

T2

bh , where A represents the area; b represents the length of the

base, and h represents the height. Calculate b when A = 100 and h = 20.

(Substitute in values for A and h)
= 5k
100= 520
00:=520b
100= D%
0 10

(0-5

(Solve the formula for b, then substitute values)
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